

# AN INEQUALITY FOR MONOTONIC FUNCTIONS GENERALIZING OSTROWSKI AND THE RELATED RESULTS

S.S. DRAGOMIR AND A. SOFO

ABSTRACT. In this paper we establish a generalisation of the Ostrowski inequality for monotonic functions that also includes various recent results and apply it for quadrature formulae in Numerical Integration.

## 1. INTRODUCTION

In [3], S.S. Dragomir pointed out the following inequality for mappings of bounded variation generalising an Ostrowski type inequality firstly established in [4]:

**Theorem 1.** *Let  $I_k : a = x_0 < x_1 < \dots < x_{k-1} < x_k = b$  be a division of the interval  $[a, b]$  and  $\alpha_i$  ( $i = 0, \dots, k+1$ ) be " $k+2$ " points such that  $\alpha_0 = a$ ,  $\alpha_i \in [x_{i-1}, x_i]$  ( $i = 1, \dots, k$ ) and  $\alpha_{k+1} = b$ . If  $f : [a, b] \rightarrow \mathbb{R}$  is of bounded variation, then we have the inequality*

$$(1.1) \quad \left| \int_a^b f(x) dx - \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(x_i) \right| \\ \leq \left[ \frac{1}{2} \nu(h) + \max \left\{ \left| \alpha_{i+1} - \frac{x_i + x_{i+1}}{2} \right|, i = 0, \dots, k-1 \right\} \right] \bigvee_a^b(f) \\ \leq \nu(h) \bigvee_a^b(f),$$

where  $\nu(h) := \max \{h_i | i = 0, \dots, k-1\}$ ,  $h_i := x_{i+1} - x_i$  ( $i = 0, \dots, k-1$ ) and  $\bigvee_a^b(f)$  is the total variation of  $f$  on the interval  $[a, b]$ .

It is obvious that if we consider that  $f : [a, b] \rightarrow \mathbb{R}$  is a monotonic mapping, then  $\bigvee_a^b(f) = |f(b) - f(a)|$  and (1.1) becomes

$$(1.2) \quad \left| \int_a^b f(x) dx - \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(x_i) \right| \\ \leq \left[ \frac{1}{2} \nu(h) + \max \left\{ \left| \alpha_{i+1} - \frac{x_i + x_{i+1}}{2} \right|, i = 0, \dots, k-1 \right\} \right] |f(b) - f(a)| \\ \leq \nu(h) |f(b) - f(a)|.$$

In the same paper [3], the author observed that the best inequality that could be obtained from (1.1) is that one for which  $\alpha_{i+1} = \frac{x_i + x_{i+1}}{2}$ ,  $i = 0, \dots, k-1$ , i.e.,

---

*Date:* January 18, 2005.

*1991 Mathematics Subject Classification.* Primary 26D15, 26D20; Secondary 41A55.

*Key words and phrases.* Ostrowski's Inequality, Monotonic Mappings, Quadrature Rules.

**Corollary 1.** *Let  $f$  and  $I_k$  be as in Theorem 1. Then we have the inequality:*

$$(1.3) \quad \left| \int_a^b f(x) dx - \frac{1}{2} \left[ (x_1 - a) f(a) + \sum_{i=1}^k (x_{i+1} - x_{i-1}) f(x_i) + (b - x_{n-1}) f(b) \right] \right| \leq \frac{1}{2} \nu(h) \bigvee_a^b(f).$$

In this case, if  $f$  is monotonic, we obviously can state that

$$(1.4) \quad \left| \int_a^b f(x) dx - \frac{1}{2} \left[ (x_1 - a) f(a) + \sum_{i=1}^{k-1} (x_i - x_{i-1}) f(x_i) + (b - x_{n-1}) f(b) \right] \right| \leq \frac{1}{2} \nu(h) |f(b) - f(a)|.$$

If we consider the practical case where  $I_k$  is equidistant, i.e., let

$$I_k : x_i = a + (b - a) \frac{i}{k} \quad (i = 0, \dots, k),$$

then, with  $f$  is as in Theorem 1, we have the inequality

$$(1.5) \quad \left| \int_a^b f(x) dx - \left[ \frac{1}{k} \cdot \frac{f(a) + f(b)}{2} (b - a) + \frac{b - a}{k} \sum_{i=1}^{k-1} f \left[ \frac{(k - i)a + ib}{k} \right] \right] \right| \leq \frac{1}{2k} (b - a) \bigvee_a^b(f).$$

If in this inequality, we assume that  $f$  is monotonic, then we can state that

$$(1.6) \quad \left| \int_a^b f(x) dx - \left[ \frac{1}{k} \cdot \frac{f(a) + f(b)}{2} (b - a) + \frac{b - a}{k} \sum_{i=1}^{k-1} f \left[ \frac{(k - i)a + ib}{k} \right] \right] \right| \leq \frac{1}{2k} (b - a) |f(b) - f(a)|.$$

For a comprehensive list of results related to, or generalising the above, see [6] and [7] where further references are given.

The main aim of this paper is to point out an improvement of the inequality (1.2) for monotonic mappings and, subsequently, for the particular cases (1.4) and (1.6). Applications for quadrature formulae will be given as well.

## 2. SOME INTEGRAL INEQUALITIES

We start with the following result.

**Theorem 2.** *Let  $I_k : a = x_0 < x_1 < \dots < x_{k-1} < x_k = b$  be a division of the interval  $[a, b]$ ,  $\alpha_i$  ( $i = 0, \dots, k + 1$ ) be “ $k + 2$ ” points such that  $\alpha_0 = a$ ,  $\alpha_i \in$*

$[x_{i-1}, x_i]$  ( $i = 1, \dots, k$ ) and  $\alpha_{k+1} = b$ . If  $f : [a, b] \rightarrow \mathbb{R}$  is monotonic nondecreasing on  $[a, b]$ , then we have the inequality

$$\begin{aligned}
(2.1) \quad & \left| \int_a^b f(x) dx - \sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(x_i) \right| \\
& \leq \sum_{i=0}^{k-1} [(x_{i+1} - \alpha_{i+1}) f(x_{i+1}) - (\alpha_{i+1} - x_i) f(x_i)] \\
& \quad + \sum_{i=0}^{k-1} \int_{x_i}^{x_{i+1}} \operatorname{sgn}(\alpha_{i+1} - t) f(t) dt \\
& \leq \sum_{i=0}^{k-1} (x_{i+1} - \alpha_{i+1}) [f(x_{i+1}) - f(\alpha_{i+1})] \\
& \quad + \sum_{i=0}^{k-1} (\alpha_{i+1} - x_i) [f(\alpha_{i+1}) - f(x_i)] \\
& \leq \max_{i=0, k-1} \left[ \frac{1}{2} h_i + \left| \alpha_{i+1} - \frac{x_i + x_{i+1}}{2} \right| \right] [f(b) - f(a)] \\
& \leq \left[ \frac{1}{2} \nu(h) + \max_{i=0, k-1} \left| \alpha_{i+1} - \frac{x_i + x_{i+1}}{2} \right| \right] [f(b) - f(a)] \\
& \leq \nu(h) [f(b) - f(a)],
\end{aligned}$$

where  $h_i := x_{i+1} - x_i$  ( $i = 0, \dots, k-1$ ) and  $\nu(h) = \max_{i=0, k-1} h_i$ .

*Proof.* Consider the mapping  $K : [a, b] \rightarrow \mathbb{R}$  given by (see also [3])

$$K(t) := \begin{cases} t - \alpha_1, & t \in [a, x_1) \\ t - \alpha_2, & t \in [x_1, x_2) \\ \dots\dots\dots \\ t - \alpha_{k-1}, & t \in [x_{k-2}, x_{k-1}) \\ t - \alpha_k, & t \in [x_{k-1}, b]. \end{cases}$$

Integrating by parts in the Riemann-Stieltjes integral, we deduce [3]

$$(2.2) \quad \int_a^b f(t) dt = \sum_{i=0}^{k-1} (\alpha_{i+1} - \alpha_i) f(x_i) - \int_a^b K(t) df(t).$$

It is well known that if  $p : [c, d] \rightarrow \mathbb{R}$ ,  $m : [c, d] \rightarrow \mathbb{R}$  are such that  $m$  is monotonic decreasing and  $p$  is continuous on  $[c, d]$ , then  $p$  is Riemann-Stieltjes integrable with respect to  $m$  on  $[c, d]$  and

$$(2.3) \quad \left| \int_c^d p(x) dm(x) \right| \leq \int_c^d |p(x)| dm(x).$$

Therefore, applying this property on each subinterval  $[x_i, x_{i+1}]$ , we can state that

$$\begin{aligned}
(2.4) \quad & \left| \int_a^b K(t) df(t) \right| \\
&= \left| \sum_{i=0}^{k-1} \int_{x_i}^{x_{i+1}} K(t) df(t) \right| \leq \sum_{i=0}^{k-1} \left| \int_{x_i}^{x_{i+1}} K(t) df(t) \right| \\
&\leq \sum_{i=0}^{k-1} \int_{x_i}^{x_{i+1}} |K(t)| df(t) = \sum_{i=0}^{k-1} \int_{x_i}^{x_{i+1}} |t - \alpha_{i+1}| df(t) \\
&= \sum_{i=0}^{k-1} \left[ \int_{x_i}^{\alpha_{i+1}} (\alpha_{i+1} - t) df(t) + \int_{\alpha_{i+1}}^{x_{i+1}} (t - \alpha_{i+1}) df(t) \right] \\
&= \sum_{i=0}^{k-1} \left[ (\alpha_{i+1} - t) f(t) \Big|_{x_i}^{\alpha_{i+1}} + \int_{x_i}^{\alpha_{i+1}} f(t) dt \right. \\
&\quad \left. + (t - \alpha_{i+1}) f(t) \Big|_{\alpha_{i+1}}^{x_{i+1}} - \int_{\alpha_{i+1}}^{x_{i+1}} f(t) dt \right] \\
&= \sum_{i=0}^{k-1} \left[ -(\alpha_{i+1} - x_i) f(x_i) + (x_{i+1} - \alpha_{i+1}) f(x_{i+1}) \right. \\
&\quad \left. + \int_{x_i}^{x_{i+1}} \operatorname{sgn}(\alpha_{i+1} - t) f(t) dt \right] \\
&= \sum_{i=0}^{k-1} [(x_{i+1} - \alpha_{i+1}) f(x_{i+1}) - (\alpha_{i+1} - x_i) f(x_i)] \\
&\quad + \sum_{i=0}^{k-1} \int_{x_i}^{x_{i+1}} \operatorname{sgn}(\alpha_{i+1} - t) f(t) dt
\end{aligned}$$

and the first inequality in (2.1) is proved.

To prove the second inequality in (2.1), we observe that since  $f$  is monotonic decreasing on  $[a, b]$ , hence we can state that

$$(2.5) \quad \int_{x_i}^{\alpha_{i+1}} f(t) dt \leq (\alpha_{i+1} - x_i) f(\alpha_{i+1}), \quad i = 0, \dots, n-1$$

and

$$\int_{\alpha_{i+1}}^{x_{i+1}} f(t) dt \geq (x_{i+1} - \alpha_{i+1}) f(\alpha_{i+1}), \quad i = 0, \dots, n-1.$$

That is,

$$(2.6) \quad - \int_{\alpha_{i+1}}^{x_{i+1}} f(t) dt \leq -(x_{i+1} - \alpha_{i+1}) f(\alpha_{i+1})$$

and then, by (2.5) and (2.6), we have

$$\begin{aligned}
& \sum_{i=0}^{k-1} \left[ -(\alpha_{i+1} - x_i) f(x_i) + (x_{i+1} - \alpha_{i+1}) f(x_{i+1}) \right. \\
& \quad \left. + \int_{x_i}^{\alpha_{i+1}} f(t) dt - \int_{\alpha_{i+1}}^{x_{i+1}} f(t) dt \right] \\
& \leq \sum_{i=0}^{k-1} [ -(\alpha_{i+1} - x_i) f(x_i) + (x_{i+1} - \alpha_{i+1}) f(x_{i+1}) \\
& \quad + (\alpha_{i+1} - x_i) f(\alpha_{i+1}) - (x_{i+1} - \alpha_{i+1}) f(\alpha_{i+1}) ] \\
& = \sum_{i=0}^{k-1} (x_{i+1} - \alpha_{i+1}) [f(x_{i+1}) - f(\alpha_{i+1})] + \sum_{i=0}^{k-1} (\alpha_{i+1} - x_i) [f(\alpha_{i+1}) - f(x_i)]
\end{aligned}$$

and the second inequality in (2.1) is proved.

For the last inequality, we observe that

$$\begin{aligned}
& (x_{i+1} - \alpha_{i+1}) (f(x_{i+1}) - f(\alpha_{i+1})) + (\alpha_{i+1} - x_i) (f(\alpha_{i+1}) - f(x_i)) \\
& \leq \max \{x_{i+1} - \alpha_{i+1}, \alpha_{i+1} - x_i\} [f(x_{i+1}) - f(\alpha_{i+1}) + f(\alpha_{i+1}) - f(x_i)] \\
& = \left[ \frac{1}{2} h_i + \left| \alpha_{i+1} - \frac{x_i + x_{i+1}}{2} \right| \right] (f(x_{i+1}) - f(x_i))
\end{aligned}$$

and then

$$\begin{aligned}
& \sum_{i=0}^{k-1} [(x_{i+1} - \alpha_{i+1}) (f(x_{i+1}) - f(\alpha_{i+1})) + (\alpha_{i+1} - x_i) (f(\alpha_{i+1}) - f(x_i))] \\
& \leq \max_{i=0, k-1} \left[ \frac{1}{2} h_i + \left| \alpha_{i+1} - \frac{x_i + x_{i+1}}{2} \right| \right] \sum_{i=0}^{k-1} [f(x_{i+1}) - f(x_i)] \\
& = \max_{i=0, k-1} \left[ \frac{1}{2} h_i + \left| \alpha_{i+1} - \frac{x_i + x_{i+1}}{2} \right| \right] [f(b) - f(a)] \\
& \leq \left[ \frac{1}{2} \nu(h) + \max_{i=0, k-1} \left| \alpha_{i+1} - \frac{x_i + x_{i+1}}{2} \right| \right] [f(b) - f(a)] \\
& \leq \nu(h) [f(b) - f(a)].
\end{aligned}$$

The theorem is completely proved. ■

Now, if we assume that the points of the division  $I_k$  are given, then the best inequality we can get from Theorem 2 is embodied in the following corollary.

**Corollary 2.** *Let  $f, I_k$  be as above. Then we have the inequality*

$$(2.7) \quad \left| \int_a^b f(x) dx - \frac{1}{2} \left[ (x_1 - a) f(a) + \sum_{i=1}^{k-1} (x_{i+1} - x_{i-1}) f(x_i) + (b - x_{n-1}) f(b) \right] \right| \\ \leq \frac{1}{2} \sum_{i=0}^{k-1} h_i \Delta f(x_i) + \sum_{i=0}^{k-1} \int_{x_i}^{x_{i+1}} \operatorname{sgn} \left( \frac{x_i + x_{i+1}}{2} - t \right) f(t) dt \\ \leq \frac{1}{2} \sum_{i=0}^{k-1} h_i \Delta f(x_i) \leq \frac{1}{2} \nu(h) [f(b) - f(a)],$$

where  $h_i := x_{i+1} - x_i$  and  $\Delta f(x_i) = f(x_{i+1}) - f(x_i)$ ,  $i = 0, \dots, k-1$ .

*Proof.* We choose in Theorem 2,  $\alpha_{i+1} = \frac{x_i + x_{i+1}}{2}$ ,  $i = 0, \dots, k-1$ , to obtain

$$\sum_{i=0}^k (\alpha_{i+1} - \alpha_i) f(x_i) \\ = \left( \frac{a + x_1}{2} - a \right) f(a) + \left( \frac{x_1 + x_2}{2} - \frac{a + x_1}{2} \right) f(x_1) + \dots \\ + \left( \frac{x_{k-1} + b}{2} - \frac{x_{k-2} + x_{k-1}}{2} \right) f(x_{k-1}) + \left( b - \frac{x_{k-1} + b}{2} \right) f(b) \\ = \frac{1}{2} \left[ (x_1 - a) f(a) + \sum_{i=1}^{k-1} (x_{i+1} - x_{i-1}) f(x_i) + (b - x_{n-1}) f(b) \right].$$

Now, (2.7) follows immediately from (2.1) and we omit the details. ■

The case of equidistant partitioning is important in practice.

**Corollary 3.** *Let  $I_k : x_i = a + i \cdot \frac{b-a}{k}$  ( $i = 0, \dots, k$ ) be an equidistant partitioning of  $[a, b]$ . If  $f$  is as above, then we have the inequality:*

$$(2.8) \quad \left| \int_a^b f(x) dx - \left[ \frac{1}{k} \cdot \frac{f(a) + f(b)}{2} (b-a) + \frac{b-a}{k} \sum_{i=1}^{k-1} f \left[ \frac{(k-i)a + ib}{k} \right] \right] \right| \\ \leq \frac{1}{2} \cdot \frac{(b-a)}{k} [f(b) - f(a)] \\ + \sum_{i=0}^{k-1} \int_{a+i \cdot \frac{b-a}{k}}^{a+(i+1) \cdot \frac{b-a}{k}} \operatorname{sgn} \left( a + \frac{2i+1}{2} \cdot \frac{b-a}{k} - t \right) f(t) dt \\ \leq \frac{1}{2k} (b-a) [f(b) - f(a)].$$

### 3. THE CONVERGENCE OF A GENERAL QUADRATURE FORMULA

Let  $\Delta_n : a = x_0^{(n)} < x_1^{(n)} < \dots < x_{n-1}^{(n)} < x_n^{(n)} = b$  be a sequence of divisions of  $[a, b]$  and consider the sequence of numerical integration formulae

$$I_n(f, \Delta_n, \mathbf{w}_n) := \sum_{j=0}^n w_j^{(n)} f(x_j^{(n)}),$$

where  $w_j^{(n)}$  ( $j = 0, \dots, n$ ) are the quadrature weights with the property that  $\sum_{j=0}^n w_j^{(n)} = b - a$ .

The following theorem contains a sufficient condition for the weights  $w_j^{(n)}$  such that  $I_n(f, \Delta_n, \mathbf{w}_n)$  approximates the integral  $\int_a^b f(x) dx$  with an error expressed in terms of the difference  $f(b) - f(a)$  and the norm of the division  $\Delta_n$ .

**Theorem 3.** *Let  $f : [a, b] \rightarrow \mathbb{R}$  be a mapping that is monotonic nondecreasing on  $[a, b]$ . If the quadrature weights  $w_j^{(n)}$  ( $j = 0, \dots, n$ ) satisfy the condition*

$$(3.1) \quad x_i^{(n)} - a \leq \sum_{j=0}^i w_j^{(n)} \leq x_{i+1}^{(n)} - a \quad \text{for all } i = 0, \dots, n-1;$$

then we have the estimate

$$(3.2) \quad \begin{aligned} & \left| I_n(f, \Delta_n, \mathbf{w}_n) - \int_a^b f(x) dx \right| \\ & \leq \sum_{i=0}^{n-1} \left[ \left( x_{i+1}^{(n)} - a - \sum_{j=0}^i w_j^{(n)} \right) f(x_{i+1}^{(n)}) \right. \\ & \quad \left. - \left( a + \sum_{j=0}^i w_j^{(n)} - x_i^{(n)} \right) f(x_i^{(n)}) \right] \\ & \quad + \sum_{i=0}^{n-1} \int_{x_i^{(n)}}^{x_{i+1}^{(n)}} \operatorname{sgn} \left( a + \sum_{j=0}^i w_j^{(n)} - t \right) f(t) dt \\ & \leq \sum_{i=0}^{n-1} \left[ \left( x_{i+1}^{(n)} - a - \sum_{j=0}^i w_j^{(n)} \right) f(x_{i+1}^{(n)}) - f \left( a + \sum_{j=0}^i w_j^{(n)} \right) \right] \\ & \quad + \sum_{i=0}^{n-1} \left( a + \sum_{j=0}^i w_j^{(n)} - x_i^{(n)} \right) \left[ f \left( a + \sum_{j=0}^i w_j^{(n)} \right) - f(x_i^{(n)}) \right] \\ & \leq \max_{i=0, n-1} \left[ \frac{1}{2} h_i^{(n)} + \left| a + \sum_{j=0}^i w_j^{(n)} - \frac{x_i^{(n)} + x_{i+1}^{(n)}}{2} \right| \right] [f(b) - f(a)] \\ & \leq \left[ \frac{1}{2} \nu(h^{(n)}) + \max_{i=0, n-1} \left| a + \sum_{j=0}^i w_j^{(n)} - \frac{x_i^{(n)} + x_{i+1}^{(n)}}{2} \right| \right] [f(b) - f(a)] \\ & \leq \nu(h^{(n)}) [f(b) - f(a)], \end{aligned}$$

where  $\nu(h^{(n)}) := \max \{ h_i^{(n)} : i = 0, \dots, n-1 \}$  and  $h_i^{(n)} := x_{i+1}^{(n)} - x_i^{(n)}$ ,  $i = 0, \dots, n-1$ .

Moreover, we have

$$(3.3) \quad \lim_{\nu(h^{(n)}) \rightarrow 0} I_n(f, \Delta_n, \mathbf{w}_n) = \int_a^b f(x) dx$$

uniformly by the influence of the weights  $\mathbf{w}_n$ .

*Proof.* Define the sequence of real numbers

$$\begin{aligned}\alpha_0^{(n)} &= a, \\ \alpha_{i+1}^{(n)} &:= a + \sum_{j=0}^i w_j^{(n)}, \quad i = 0, \dots, n.\end{aligned}$$

Note that

$$\alpha_{n+1}^{(n)} = a + \sum_{j=0}^n w_j^{(n)} = a + b - a = b.$$

By the assumption (3.1), we have  $\alpha_{i+1}^{(n)} \in [x_i^{(n)}, x_{i+1}^{(n)}]$  for all  $i = 0, \dots, n-1$ .

Observe that

$$\begin{aligned}\alpha_1^{(n)} - \alpha_0^{(n)} &= w_0^{(n)}, \\ \alpha_{i+1}^{(n)} - \alpha_i^{(n)} &= a + \sum_{j=0}^i w_j^{(n)} - a - \sum_{j=0}^{i-1} w_j^{(n)} = w_i^{(n)} \quad (i = 1, \dots, n-1)\end{aligned}$$

and

$$\alpha_{n+1}^{(n)} - \alpha_n^{(n)} = a + \sum_{j=0}^n w_j^{(n)} - a - \sum_{j=0}^{n-1} w_j^{(n)} = w_n^{(n)}.$$

Consequently,

$$\begin{aligned}\sum_{i=0}^n (\alpha_{i+1}^{(n)} - \alpha_i^{(n)}) f(x_i^{(n)}) &= \sum_{i=0}^n w_i^{(n)} f(x_i^{(n)}) \\ &= I_n(f, \mathbf{\Delta}_n, \mathbf{w}_n).\end{aligned}$$

Applying the inequality (2.1), we deduce the estimate (3.2). The limit follows by the last inequality in (3.2). ■

The case where the partitioning is equidistant is important in practice. Consider then, the partitioning

$$E_n : x_i^{(n)} = a + i \cdot \frac{b-a}{n} \quad (i = 0, \dots, n),$$

and define the sequence of numerical quadrature formulae

$$I_n(f, \mathbf{w}_n) := \sum_{i=0}^n w_i^{(n)} f\left(a + i \cdot \frac{b-a}{n}\right), \quad \sum_{i=0}^n w_i^{(n)} = b-a.$$

The following result holds.

**Corollary 4.** *Let  $f : [a, b] \rightarrow \mathbb{R}$  be monotonic nondecreasing on  $[a, b]$ . If the quadrature weights satisfy the estimate:*

$$\frac{i}{n} \leq \frac{1}{b-a} \sum_{j=0}^i w_j^{(n)} \leq \frac{i+1}{n} \quad (i = 0, \dots, n-1),$$



then we have the inequality

$$\begin{aligned}
& \left| I_n(f, \mathbf{w}_n) - \int_a^b f(x) dx \right| \\
& \leq \sum_{i=0}^{n-1} \left[ \left( \frac{i+1}{n} \cdot (b-a) - \sum_{j=0}^i w_j^{(n)} \right) f \left( a + \frac{i+1}{n} \cdot (b-a) \right) \right. \\
& \quad \left. - \left( \sum_{j=0}^i w_j^{(n)} - \frac{i}{n} (b-a) \right) f \left( a + \frac{i}{n} (b-a) \right) \right] \\
& \quad + \sum_{i=0}^{n-1} \int_{a+\frac{i}{n}(b-a)}^{a+\frac{i+1}{n}(b-a)} \operatorname{sgn} \left( a + \sum_{j=0}^i w_j^{(n)} - t \right) f(t) dt \\
& \leq \sum_{i=0}^{n-1} \left[ \frac{i+1}{n} \cdot (b-a) - \sum_{j=0}^i w_j^{(n)} \right] \left[ f \left( a + \frac{i+1}{n} (b-a) \right) - f \left( a + \sum_{j=0}^i w_j^{(n)} \right) \right] \\
& \quad + \sum_{i=0}^{n-1} \left[ \sum_{j=0}^i w_j^{(n)} - \frac{i}{n} (b-a) \right] \left[ f \left( a + \sum_{j=0}^i w_j^{(n)} \right) - f \left( a + \frac{i}{n} (b-a) \right) \right] \\
& \leq \left[ \frac{1}{2} \cdot \frac{b-a}{n} + \max_{i=0, n-1} \left| \sum_{j=0}^i w_j^{(n)} - \frac{2i+1}{2} \cdot \frac{b-a}{n} \right| \right] [f(b) - f(a)] \\
& \leq \frac{b-a}{n} [f(b) - f(a)].
\end{aligned}$$

Moreover, we have the limit

$$\lim_{n \rightarrow \infty} I_n(f, \mathbf{w}_n) = \int_a^b f(x) dx$$

uniformly by the influence of  $\mathbf{w}_n$ .

#### 4. SOME PARTICULAR INEQUALITIES

In the section we point out some particular inequalities which generate classical results such as: the rectangle inequality, trapezoid inequality, Ostrowski's inequality, midpoint inequality, Simpson's inequality, and others for monotonic nondecreasing mappings.

**Proposition 1.** *Let  $f : [a, b] \rightarrow \mathbb{R}$  be monotonic nondecreasing on  $[a, b]$ . Then we have the inequality [1]*

$$\begin{aligned}
(4.1) \quad & \left| \int_a^b f(x) dx - [(\alpha - a)f(a) + (b - \alpha)f(b)] \right| \\
& \leq (b - \alpha)f(b) - (\alpha - a)f(a) + \int_a^b \operatorname{sgn}(\alpha - t) f(t) dt \\
& \leq (b - \alpha)[f(b) - f(\alpha)] + (\alpha - a)[f(\alpha) - f(a)] \\
& \leq \left[ \frac{1}{2}(b - a) + \left| \alpha - \frac{a+b}{2} \right| \right] [f(b) - f(a)].
\end{aligned}$$

for all  $\alpha \in [a, b]$ .

*Proof.* Follows from Theorem 2 by choosing  $x_0 = a$ ,  $x_1 = b$ ,  $\alpha_0 = a$ ,  $\alpha_1 = \alpha \in [a, b]$  and  $\alpha_2 = b$ . ■

**Remark 1.** If in (4.1) we put  $\alpha = \frac{b+a}{2}$ , then we get the “trapezoid inequality” as noted in [1]:

$$(4.2) \quad \begin{aligned} & \left| \int_a^b f(x) dx - (b-a) \frac{f(a) + f(b)}{2} \right| \\ & \leq \frac{b-a}{2} [f(b) - f(a)] + \int_a^b \operatorname{sgn} \left( \frac{a+b}{2} - t \right) f(t) dt \\ & \leq \frac{1}{2} (b-a) [f(b) - f(a)]. \end{aligned}$$

Another particular integral inequality with many applications is the following one.

**Proposition 2.** Let  $f : [a, b] \rightarrow \mathbb{R}$  be as above. Then we have the inequality established in [5]:

$$(4.3) \quad \begin{aligned} & \left| \int_a^b f(x) dx - [(\alpha_1 - a) f(a) + (\alpha_2 - \alpha_1) f(x_1) + (b - \alpha_2) f(b)] \right| \\ & \leq (b - \alpha_2) f(b) + 2 \left( x_1 - \frac{\alpha_1 + \alpha_2}{2} \right) f(x_1) - (\alpha_1 - a) f(a) \\ & \quad + \int_a^{x_1} \operatorname{sgn}(\alpha_1 - t) f(t) dt + \int_{x_1}^b \operatorname{sgn}(\alpha_2 - t) f(t) dt \\ & \leq (x_1 - \alpha_1) [f(x_1) - f(\alpha_1)] + (b - \alpha_2) [f(b) - f(\alpha_2)] \\ & \quad + (\alpha_1 - a) [f(\alpha_1) - f(a)] + (\alpha_2 - x_1) [f(\alpha_2) - f(x_1)] \\ & \leq \max \left\{ \frac{1}{2} (x_1 - a) + \left| \alpha_1 + \frac{a + x_1}{2} \right|, \frac{1}{2} (b - x_1) + \left| \alpha_2 + \frac{x_1 + b}{2} \right| \right\} \\ & \quad \times [f(b) - f(a)] \\ & \leq \frac{1}{2} \left[ \max \{x_1 - a, b - x_1\} + \max \left\{ \left| \alpha_1 + \frac{a + x_1}{2} \right|, \left| \alpha_2 + \frac{x_1 + b}{2} \right| \right\} \right] \\ & \quad \times [f(b) - f(a)], \end{aligned}$$

provided that  $a \leq \alpha_1 \leq x_1 \leq \alpha_2 \leq b$ .

*Proof.* Follows by Theorem 2 on choosing the division  $a = x_0 \leq x_1 \leq x_2 = b$  and the numbers  $\alpha_0 = a$ ,  $\alpha_1 \in [a, x_1]$ ,  $\alpha_2 \in [x_1, b]$ ,  $\alpha_3 = b$ . ■

**Remark 2.** a) If in (4.3) we choose  $\alpha_2 = b$ ,  $\alpha_1 = a$ , then we get the inequality obtained in [2]

$$\begin{aligned}
 (4.4) \quad & \left| \int_a^b f(x) dx - (b-a)f(x_1) \right| \\
 & \leq 2 \left( x_1 - \frac{a+b}{2} \right) + \int_a^{x_1} \operatorname{sgn}(a-t)f(t) dt + \int_{x_1}^b \operatorname{sgn}(b-t)f(t) dt \\
 & \leq (x_1 - a)[f(x_1) - f(a)] + (b - x_1)[f(b) - f(x_1)] \\
 & \leq \left[ \frac{1}{2}(b-a) + \left| x_1 - \frac{a+b}{2} \right| \right] [f(b) - f(a)]
 \end{aligned}$$

for all  $x_1 \in [a, b]$ .

- b) If in (4.3) we choose  $\alpha_2 = \alpha_1 = \alpha (= x_1) \in [a, b]$ , then we get (4.1).  
 c) If we choose  $x_1 = \frac{a+b}{2}$  in (4.3), then we obtain, for  $a \leq \alpha_1 \leq \frac{a+b}{2} \leq \alpha_2 \leq b$

$$\begin{aligned}
 (4.5) \quad & \left| \int_a^b f(x) dx - \left[ (\alpha_1 - a)f(a) + (\alpha_2 - \alpha_1)f\left(\frac{a+b}{2}\right) + (b - \alpha_2)f(b) \right] \right| \\
 & \leq (b - \alpha_2)f(b) + (a + b - \alpha_1 - \alpha_2)f\left(\frac{a+b}{2}\right) - (\alpha_1 - a)f(a) \\
 & \quad + \int_a^{\frac{a+b}{2}} \operatorname{sgn}(\alpha_1 - t)f(t) dt + \int_{\frac{a+b}{2}}^b \operatorname{sgn}(\alpha_2 - t)f(t) dt \\
 & \leq \left( \frac{a+b}{2} - \alpha_1 \right) \left[ f\left(\frac{a+b}{2}\right) - f(\alpha_1) \right] + (b - \alpha_2)[f(b) - f(\alpha_2)] \\
 & \quad + (\alpha_1 - a)[f(\alpha_1) - f(a)] + \left( \alpha_2 - \frac{a+b}{2} \right) \left[ f(\alpha_2) - f\left(\frac{a+b}{2}\right) \right] \\
 & \leq \frac{1}{2} \left[ (b-a) + \max \left\{ \left| \alpha_1 - \frac{3a+b}{4} \right|, \left| \alpha_2 - \frac{a+3b}{4} \right| \right\} \right] [f(b) - f(a)].
 \end{aligned}$$

It is obvious that the best inequality we can obtain from (4.5) is the one for which  $\alpha_1 = \frac{3a+b}{4}$  and  $\alpha_2 = \frac{a+3b}{4}$ , getting

$$\begin{aligned}
 (4.6) \quad & \left| \int_a^b f(x) dx - \frac{1}{2} \left[ \frac{f(a) + f(b)}{2} + f\left(\frac{a+b}{2}\right) \right] \right| \\
 & \leq \frac{(b-a)(f(b) - f(a))}{4} + \int_a^{\frac{a+b}{2}} \operatorname{sgn}\left(\frac{3a+b}{2} - t\right) f(t) dt \\
 & \quad + \int_{\frac{a+b}{2}}^b \operatorname{sgn}\left(\frac{a+3b}{4} - t\right) f(t) dt \\
 & \leq \frac{b-a}{4} [f(b) - f(a)].
 \end{aligned}$$

If in (4.5) we choose  $\alpha_1 = \frac{5a+b}{6}$ ,  $\alpha_2 = \frac{a+5b}{6}$ , then we get Simpson's inequality ( see also [5]):

$$\begin{aligned}
 (4.7) \quad & \left| \int_a^b f(x) dx - \frac{1}{3} \left[ \frac{f(a) + f(b)}{2} + 2f\left(\frac{a+b}{2}\right) \right] \right| \\
 & \leq \frac{(b-a)(f(b) - f(a))}{6} + \int_a^{\frac{a+b}{2}} \operatorname{sgn}\left(\frac{5a+b}{6} - t\right) f(t) dt \\
 & \quad + \int_{\frac{a+b}{2}}^b \operatorname{sgn}\left(\frac{a+5b}{6} - t\right) f(t) dt \\
 & \leq \frac{b-a}{6} \left[ f(b) - f(a) + f\left(\frac{a+5b}{6}\right) - f\left(\frac{5a+b}{6}\right) \right] \\
 & \leq \frac{11}{8} (b-a) [f(b) - f(a)].
 \end{aligned}$$

## REFERENCES

- [1] P. Cerone and S.S. Dragomir, Trapezoidal-type rules from an inequalities point of view, *Handbook of Analytic-Computational Methods in Applied Mathematics*, Editor: G. Anastassiou, CRC Press, N.Y., (2000), 65-134.
- [2] S.S. Dragomir, Ostrowski's inequality for monotonous mappings and applications, *J. KSIAM*, **3** (1) (1999), 127-135.
- [3] S.S. Dragomir, The Ostrowski integral inequality for mappings of bounded variation, *Bull. Austral. Math. Soc.*, **60** (1999), 495-508
- [4] S.S. Dragomir, On the Ostrowski's integral inequality for mappings with bounded variation and applications, *Mathematical Inequalities and Applications*, **4**(1) (2001), 59-66. [Preprint: RGMIA Res. Rep. Coll, 2(1999), No. 1. Article 7, Online <http://rgmia.vu.edu.au/v2n1.html>].
- [5] S.S. Dragomir, J. E. Pecaric and S. Wang, The unified treatment of trapezoid, Simpson and Ostrowski type inequality for monotonic mappings and applications, *Mathematical and Computer Modelling*, **31** (2000), 61-70.
- [6] S.S. Dragomir and Th. M. Rassias, Generalisations of Ostrowski inequality and applications, in *Ostrowski Type Inequalities and Applications in Numerical Integration*, Kluwer Academic Publishers, Dordrecht, 2002, 1-64.
- [7] A. Sofo, Integral inequalities for n-time differentiable mappings, in *Ostrowski Type Inequalities and Applications in Numerical Integration*, S.S. Dragomir & Th. M. Rassias (Eds), Kluwer Academic Publishers, Dordrecht/Boston/London, 2002, 65-140.
- [8] A. Sofo and S.S. Dragomir, An Ostrowski-Gruss type inequality for twice differentiable mappings using a multi-branch Peano kernel, in *Inequality Theory and Applications - Volume 1*, Y.J. Cho, J.K. Kim and S.S. Dragomir (Eds.), Nova Science Publishers, Inc., Huntington, New York, 2001, pp. 281-294.

SCHOOL OF COMPUTER SCIENCE AND MATHEMATICS, VICTORIA UNIVERSITY OF TECHNOLOGY,  
PO BOX 14428, MELBOURNE CITY MC, VIC, AUSTRALIA, 8001.

*E-mail address:* {sever, sofo}@matilda.vu.edu.au

*URL:* <http://rgmia.vu.edu.au/SSDragomirWeb.html>

*URL:* <http://cams.vu.edu.au/staff/anthony.html>